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1. The only plateau in Assam is
(A) Deccan Plateau
(C) Meghalaya Plateau

(B) Karbi Plateau
(D) Chota Nagpur Plateau
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(A) REEER TEw (B) A<M T
(C) Rt STaaTay (D) HaWiE famaEETE
2. Fathiyyah-i-briyyah of Shihab-ud-din Talish is an important source to know about
(A) the Battle of Saraighat (B) the Treaty of Yandaboo
(C) Mir Jumla’s Expedition (D) Moamoria Rebellion
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5. samfy dETR e GrAr WY
() @@ I faférmty 7@ (B) w@EE™ (Tourism)
(©) Fgrs (Manufacturing) (D) st
3. Which of the following is the main pillar of Assam’s economy?
(A) 0Oil and Natural Gas (B) Tourism e
(C) Manufacturing (D) Agriculture
I ——
4. @R v7e SPT bg¥l (O CTEIN RAITS w1 447 C2fSeT 2
(A) 1919 WB) 1999
{e) 1991 (D) 1989
4. TS WP b9 COF CTRAISIRIG (P17 e bre] a1 2wt 2
(A) 1919 (B) 1999
(C) 1991 (D) 1989
4. mamfy 3y o dRiEfE 99 TRUEEE TR TR
[4) 1919 (B) 1999
(C) 1991 (D] 1989

4. In which year was the fourth oil refinery of Assam started at Numaligarh?
(A) 1919 (B) 1999
(€) 1991 (D) 1989

5. SPS A4 Tom CRRT TRy =

A) 4= S
AR :
D) TR1°05
5. PR 2y SeeoNfitS e 5z
(A) 4=
4 m (B) o
| | (D) =%
. wmamﬁwmtmmﬁﬁ
(A) TR
(€C) war - ﬁE
(D) wren
5.
':‘;;e s.taple food Crop of Assam is
Ilce
7 e (B) Wheat

\ (D) jute
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(c) !
q;mm: e o El Sl
6. ) WX gﬁh - m
I(C: g ¥ (D) IERA HdE T
6. The ;(amakhya Temple is situated at
| (A) Nilachal Hills (B) .Chitrachal Hills
(D) None of these

() Manikuta Hills

7. WZH &M AT FofcS T I 2

(A) Eﬂ*ﬂﬁﬁ’i (B) vowe PR
wi’imﬁw‘ D) oS PR
7. WW’I‘W o Fofne @ forem ?
A &“ﬁ Fr (B) vowE BiR
7. mwﬂﬁtﬁmwﬁmmtf
) e (B) e 6@
©) T e (D) o e

7. Who was the last Swargadeo of Ahom Dynasty? s
() Jayadhwaj Slngha (B) Chakradhwaj Singha

(D) Pramatta Singha
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8. ‘9 ﬁﬁ’@ g q‘rﬂﬁ’(‘-‘{

' At
() ST gt A (B) e FAR T
(c) e A ArarEiEE D) oy TG T

8. ‘Joy Daul’ was puilt in the memory of 1 |
(A) Joymoti Kunwarl . 7 (B) Phuleswari Kunwar

(C) Ambika Kunwari , _-'i"___:lD) Rani Gaidinliu
0. ffiRs R (@R fEem T Tforers shafifs e ?
(&) Tl - (B) TR
(C) I=A Dy wRefe
9. fca SfalRks ¢l @ CEAIG TR SoroReR SRFS w3 2
(a) el (B) qﬁ@wﬁ
(C) =T D) wRefe
o. TETf T AR TUs T R e o
(A) ;th) LERIEaIC
(C) FBR a__m) Tiema
9. Which of the following is not a district cﬁ‘:ZBarak Valley?
(A) Shribhumi ;:‘[B) Hailakandi
(C) Cachar = (D) Morigaon

10. ﬁﬁ%mwﬁqe@@mwmw@%?

(A) TS| I . B) w3z @
(C) e qTen (D) GXART 9IS =W
10. faca SfeRe oM rfs o orfe wsftie FEBKET T W ACHA TIPS 2R ?
(A) e Ay ~—(B) -+ e
(C) ©Fel A _(D) aafer gafhe 7y
10. TERf T Tesive wRa T ST TS A
(A) T T L (B) Rumn-wer ws
(C) =er T (D) AP TR T

10. Which of the followin
Rudra Singha?

(A) Kamata Kingdom

g Kingdoms was ﬁnaily _;iiinexed into the Ahom Kingdom by Swargad

(B) Dimasa-Kachari Kin gdom

(C) Dafala Kingdom (D) None of these
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11. Wﬁwmmiﬂ@mw?

S L ST LR (B) >[zvel Formm)
() R e (D) =g yfe
11.wmﬁwwﬁwgw§7ﬁﬁtﬁﬂ? )
(A) T ARl (S 7 (B) vl o
11, samfy ffafe s ff AT A
(A) &7 AT AT (B) T
(c) Af= aaafd (D) e g
11. Who was the first lady Chief Minister of Assam?

(B) Sucheta Kripalani

(A) Syeda Anwara Taimur
(D) Mehbooba Mufti

(C) Nandini Satpathy

12. IM IEGIETS 201 WE yc_r-f%h et TRR B[R oA 0 et 2
(B) =sfre omwa iz

(A) Fofrre TawE BiR -
: Dy Tl ome Pz

(€) Fofres smiR Fisz
TR AT B @3 PR R TR I - oA 2 2
. (B) Fefre oFwa BiR
(D) Fofcrs owa ik

12.
(A) e TuRS Big

(C) =ofme smiyd Pz

12. AN G G @) 31 I W Qe STEe
(A) wRe e fiw (B) wried g féw
(C) @iea Tenr fie (D) @riea wi'd fére

- : ; ?
12. During whose reign was the Rang Ghar reconstructed using bnckj an; r;l;:;t&fr
" randar oin
(A) Swargadeo Jayadhwaj Singha (F) Swamgets 8 tta Singha
_ a
0} Swargades Qaduillise Stigha (D) Swargadeo Prama

13. PR AR W (@R AR @R $TS A ? /
(B) 9[@ ﬁfi{ ﬁ-ﬁ, ﬁﬂ’fﬁﬁ =

(A) TR B, wmrf v
(€ = e, Ryl (D) oA e, RS
13. SPTE SR GR FRRe oy (g’ i SRS ?
(&) W /e, g () 1 ik e, Freemom
©) TR =, fovffy (o) v R, PIELIE
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aml 'R TR RN 37
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’ o) o o e @) TR R e, REETR
(o) g e, R (D) ¥ fa, A=
the ‘Assam Kayaking and Canceing Training Centre’ located?

13. Where is

G Dihing Beel, Sivasagar
(A) Deepor Beel,

uwahati - (B) Pani

(C) Maguri Beel, Tinsukia @) Cw
14, P o o TR S W" - .
) s o B e
(©) A _ (D) stz
14, ST ‘o ool TR TS P SRS 2 '
(A) e (B) CrAMS
() A (D) feormm
14, mqﬁgﬁwqhﬂmmmmmma, | .
() TE - - (B WM™
© 3 = @ fm
14. Where is the Police Training Co]lege;_jiingssam located?
(A) Nagaon = (B) Dergaon
(C) Dudhnoi ~ (D) Digboi

15. ‘SN SeART 70 SR ?

Ay T, W B) e, RRFT

(C) IS, BT (D) ¥’f&, MY
15, ‘ool SRy’ U w1iEe 2

(a) &g, om (B he, B

(C) TFTS, @EAD - (D) GRS, e

15, TR SR’ en wReE €7 i

() fex, smam B i, R

(C) TS, Tmre (D) wRm, TImeve
15,

Where is the ‘Garampani Sanctuary’ located?
(A) Diphu, Assam (B) Gangtok, Sikkim
() Junagadh, Gujarat (D) Kohima, Nagaland
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.[A] W;q {B} wq
e DY SRty
16. o e ST offarer® RO S PR Wt sfiggers o
A SR : (B) =wiqaty
(C) T (D) S©IFRq
16, a T G T o IR RS I H 2
(A) yfoerd ~(B) =kl
(C) TmaIc (D) ey

16. During whose reign did the Chinese pilgrim Hiuen Tsang visit Kamarupa?

(A) Bhutivarman (B) Harjaravarman

(C) Ratnapala (D) Bhaskaravarman
—
17. Asian Development Bank-9 SPa© Tﬁlﬁmeﬁ “fsq |
CrREW e RN 91 W = 1 & = e S e TR
(A) 432-25 fferH TaR = ~(B) 43025 Rfspm woR
(C) 443-25 falferss el (D) 434-25 fiftew waR
17. oFRF cerswecah < S ST ACen SRR *Rew el wrois w9 R Rl T w1
Fo AT YT A AR ? £
(A) 43225 fferr woma -~ _\(BY 430-25 fiftm weR
7;c) 443-25 ffemm TR (D) 434-25 fifsrm o™
17. M TN BeAUE M di|Al SR e @ty Semer =@ fan ofae e S5 3l
T A T B
(A) 432:25 TaRE s (B) 430-25 fafeA swms
< }C) 443-25 Tafem sam D) 43425 Tafem s

17. The Asian Development Bank recently approved what amount of loan to increase renewabl
energy capacity and improve energy security in the State of Assam?

(A) $ 432:25 million (B) $ 430-25 million
(C) $ 44325 million ~ (D) $ 434-25 million

18. 1942 b4 ‘SKS Sls| SICHREA'S GoR (TGS W10 Al (2% ?

(A) CTR @R X(B) WA =
YO Prt 3w P T FRT
18. 1942-4% "SI W WrwEm’ - vy (@ISACE BT (ST ZARA 7
(A omE FrE (B) i oreT=
© Prf g (D) T Sk
EENE
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. 194z FESTER ST TP ST ST ey i, e sy e T
(B) wfowm =&

() TR
() ol T (D) FEe FL

- — the followlng was h&nged m the Quit India Movcmcnt of 1942?
) Gomdhar Konwar 757 (B) Maniram Dewan

(A =
/__
P SIBSAEN Sl m‘?

WWW
(©) eI SR JRIFTTS

E— b LR R

18.

i (B) QoM A TS
(D) VRIS I B

19.
(A) SO 8 AETCE (B) ¥HF & TAFTH
(C) TPt @ NN (D) R S O

B m@ﬁmwmﬁmé?

() g SR SR =< (B) M I FEAR
“5% (D) TR I R

(C) @iemR R BN

:
19. Assam has international boundary th”wh:ch two countries?
() Bhutan and Bangladesh ~ (B) Bhutan and Myanmat

(©) Bangladesh and Myanmar = (D) Myanmar and China

20. SR 2T +H-A1°0 RFS (2R

a) feee | (B) oS
(C) SRwre DYy IS

20. SRSIRT 32 -l TRES
A) R (B) PoIacH
(C) Sfewm 7 (D)

20. Ty ¥R 3 R —
(A) fegrE g ® A &'aE
(C) Sf=mmE . (D) EmE

20. The largest river island in India is sihigl-;‘.;d in
(A) Bihar (B) West Bengal
(C) Odisha (D) Assam
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21, SO I e (eias Rt 77 @ ?

A) fra RfEE (B) $Torva AW

(€) w5 AP Al ARY To 9F, TG
21, SHCEH T oy - W& (%7

) e R | (B) $LoM%a T

(€) AR LPT AT i : <%
21, W@ 21y External Affairs Minister 31 GR?

() o R B P

(C) T TR T g

Who is the current External Affairs Minister of India?

21.
(A) Kiren Rijiju (B) Bhupender Yadav
(C) Jagat Prakash Nadda . (D) Dr. S. Jaish

22. Z-Morh & (mﬁw)am@wwﬁﬁwmw ;

1. % culfen A% oFEE QBT ST
2. 6-5km?ﬁﬂwﬁ1ﬂ-ﬁ«ﬂﬂwﬁlﬁ‘ﬁmﬁfwwwr

3. o0 National Highway Authority of India-¥ SR R
TR @ FRER S 0E 2
(A) @FEEE 1 2
(C) FE 2 W% 3
22. Z-Morh 9% (CTRS 3[g) -7 ey MNewA SReafer Reae T

1. afb e [e% oreR @Rl = |
2. 65 km T 75D oy o FrACR AP GR TS SIS S AR |

(B) @ 1
~D) @G 2

3. oM National Highway Authority of India-¥ SERYIGA SRS |
e o TR o o o
W) P 1R 2 (B) @@ 1
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3. I ez S e e e |
.5 o o T 3 ZVC 5 3 b e s AT oA B

2.
3, @ AEETE R T SRR st |
i B A frgfa/fordfarera A&7
(A) 19 2 IS e
’ - 3
(€) 2 ¥ 3 IS ) 2o
22. Consider the fallowing 300N regaréi_ﬁg_ the Z-Morh Tunnel (Sonamarg Tunnel) :
i 1. It is a part of Zojila Tunnel Project.:' | »
2. The 65 km long tunnel connects Gagangir and Sonamarg region in Jammu

Kashmir. — . o
.3, The project comes under the supervision of the National Highways Authority of India

Which of the statements given above is/are correct?
() 1 and 2 only (B) 1 only
(C) 2 and 3 only (D) 2 only

23. SASY 4 9. 3. (AI) W59 (FFYA? -

7(1;;) FaITl ) =R
© f D)
3. SRCSA A4d €. WX, (Al) 7o @i ? ,_

) Tl LB TR

(€ @& ; . D) FLF
23. TEER T wrat fifar AT get? <

(A) HEHIC ~ = (B) W@

() = : (D) e
23. Which of the following is the first Al city in India?

(A) Kolkata (B) Lucknow

(C) Delhi (D) Bengaluru

24, ‘@iEH+’ (Copilot+) FMo(EHR, T Al-efe 7RI S “RFe’ (Recall) I@¥A R4 =R,

! 2 reniRicy 3eTiRfRE 2
(A) GoTEIAS -~ (B) @
() @[ @/ RIETAE
24, (.'cFF{ oE @ Q. iR (Al)-3FS FREREl @R S R (Recall) FERS
@R+’ (Copilot+) FIRTHR B FAR?
(A) SPETRFCD (B) SUTCoE
C) = (D) VRCFPRED
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24. 'Copilot* ' HfEseR, i Al -sireafi T I Recall RUGECE a@ﬁmﬁmmﬁ?

(A) TETEHZ (B) M
(C) TER : (D) #TEw'HR
24. Which tech company has launched 'Copllot # PGy it Alceubansed functiona]ity
a unique Recall’ feature? -
(A) Alphabet e (B) Apple
(C) Acer *: _ (D) Microsoft

25. B wFR (25 ' 1), 2024 (A 7S FRfee o

(A) T T (B) = vat
(€ e (D) To ffar v 3t
25. B T (<2 S o), 2024 CF TS FeafRrom 2
(A) 99 IS (B) 39 ¢
© 7R (D) . = o) <t
25. @R Green Oscar (Whitley Gold ST), 2024 T SITEEMHA?
(A) TG B T
© o . (D) o gifm 3 wf
25. Who received the Green Oscar (Whitlef_’ i’:‘;old Award), 2024?
(A) Raman Sukumar = (B) Brindha Devi
(C) Krishnamoorthy ~ = (D) Dr. Purnima Devi Barman

26. ¥ AgER o offf afSram, 2024 gomt FfRfRE 2

(A) WHO ‘ (B) UNICEF

(C) UNDP (D) World Bank -
26. T eI P off efdram, 2024 erer Fcafee 2

(A) WHO ~__ (B) UNICEF

(C) UNDP (D) World Bank
26. 74 M Child Nutrition Report, 2024 @‘f a'raa‘l FrETEEi?

(A) WHO - (B) UNICEF

(C) UNDP - (D) World Bank
26.

Tuch organization released the Child Nutrition Report, 2024?

(A) WHo (B) UNICEF

©) unDp

(D) World Bank

—— e
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27. Ry AN @] oK, 20247 AT 18037 (PR Rews sk W RAH 2
. ) 161

(A) 159 () 152 J0) 150 \(P)
o7, Ry s A TS 2024 SR 1806 ciem Weu SIRCSA ¥ FS ?

(A) 159 (B) 152 : (C) 150 (D) 161
27. World Press Freedom Index, 2024 3719, 130 BeTERy WeE WA [ "7

(A) 159 (B). 152 (0 150 (D) 161
27. In the World Press Freedom Index, 2022;_,-:what is India’s rank among 180 countries?

(A) 159 (B) 152 (©) 150 (D) 161
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28. WO (0N vl BT AN <A 41 7

(A) 9 (B) +cagd 7

(C) AT S \/,((D) «AT9 3
28. “STOR SR SOl 1T I A 91 .rgro

(A) =CeTT9 (B) -tsTa 7

<+ (D) 7T 3

(C) FeTA 5
28. ‘U I H'E Hreen wifE?
(&) 9 =R = (B) 7w
(C) 5 FawR (D) 3 F&w=R
28. When is ‘National Cancer Awareness Day’ observed?
(A) November 9 (B) N b
ove
(C) November 5 (D) N mbcr :
ovember 3

-_

29. 2 qurq ¢ ’ e
? I ‘@R G (Jonbeel Mela) RT3 ReTre SHfde =59

W TRefe )
(C) TE?"{ ¥ (B} w
(D) ¢smemsTD
29, aft 7
SN G o e
(A) 3fRsie ks o
©) fare (B) m3y
(D) comemrs
C
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29 W ‘Sfee A’ (Jonbeel Mela) @ TR Premm o 7

) (B) =
c fd (D) e
29, In which of the following districts is the ‘Jonbeel Mela’ held every year?
(A) Morigaon ~ (B) Baksa
(C) Chirang ~—- (D) Golaghat
e T
20, A it cafom S 9 B2 D
() 25 TR - (B) 2101®
Ny 17 SRS (D) 14 TS
30. ‘Rl fieot” 03 Trire 22
(A) 2501 S (B) 21¢1
©) 172w | (D) 14% 7o
30. ‘fired '@ A WiferTd 7 -
(A) 25 SR — (@®) 21%m
(C) 17 AR —— (D) 14 TEAE
30. ‘Silpi Divas’ is celebrated on = 37
(A) 25th January ~°  (B) 21st May
(C) 17th January - - (D) 14th November
31, T TR FHET (B F'S S ?
{8) SO B) PrRTeRe
(€) Fes ' D) @EEe
31. R AR o' @1AR 1S ?
() e ~ (B) PR
() he-g - (D) TR
31, ST O S MR A
(A) TR . (B) T
(C) & (D) ST
31. Where is the ‘Assam State Museum’ located?
(A) Guwahati (B) Sivasagar
(C) Nagaon (D) Jorhat
- -
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32. ASTCH 5y ¥
() e B 0 7 (B) T (% (B & w0 |
(€ Wﬁ@ﬂﬁ’f% (D) Wd’ﬁc‘ﬁzﬁiiﬂ"ﬂﬁﬁ 1
of ¢l
32. ASTC-9 ™ :
() e OB SR T, B P (U5 BT P
(© Wﬁ%wﬁﬂ"m” « (D) T o6 reee IR
32. AsTC A kel i |
) s €z 3 TR B e R s FER
(© T Ve JAE FREA (D) e B 3 R
STC stands for N
- :‘\) Assam State Trading Corporation (B) Assam State Technology Con’umssmn
(C) Assam State Transport Corporation (D) Assam State Travel Corporation
) iy ¥
33. e e ab R R
(B fReRm

,(e)/tﬂ'l‘ifi' 4
¢ (Y W’zﬁ

33. fra TRRe @A RiE 7 w2

(a) @ (B RFmm

(€) e (D) TGS
33, TEMEN T8 AAAE1 SRS 19 (inert gas) T&?

(A) A (B) Tfemm

() fmm (D) LS
33. Which of the following is not an inert gas?

(A) Argon (B) Helium

(C) Neon - - (D) Nitrogen

34, 1394mwwﬁw&mﬂmmﬁtﬁ?ﬁiﬂ?

(4) RE _ (B) TR
34, 1894 A WP FEF RCAR (I TICA RADS 2 2

W = (B) W

(C) *NrFe® (D) R
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2. 1894 TR Wmﬂmﬁ‘mﬂmwaﬁlﬂq?

(A) TEF (B) =g

() TYEHR (D) efrargi
34. The Peasant Uprising of Assam in 1894 took place at

(o) Gohpur (B) Yandaboo

(C) Patharughat _(D) Dhekiajuli

e
35. o@va iz, . . T20 fov4, 2024@@13@&@;5‘[&@%?{1—%?

(A) IR T _(B) Gfs @
Yoy wHide TR (D) WR gEAe 7Ty
35. o iz, . . 720 oA, 2024-9 @WWWW
(A) T T B) IS cze
() wiEs T (D) o TR o
35. FERA ICC T20 World Cup, 2024 34 AR Tt TR ara) TR
(A) T IS .B) P
(C) i TRE --i___;_.f(D) Tty wE) /e

35. Who won the best player award in the ICC Mens T20 World Cup, 2024?
(A) Suryakumar Yadav Py (B) Travis Head
(C) Jasprit Bumrah ;‘j:__{D) None of them

36. 2034 b3 Frel fugre 3 wifYe 792

(A) % (B) CRift o
(C) ¥ (D) 2RI mﬁ'@mﬂ?{ﬂ
36. 2034 S fr Rl AT DS TA?
B) S (B) O wmR
(C) I __ _(D) Qgler @R T
36. 2034 T FIFA 968 = sam SH? "_j_*'i. :'
(A) & (B) Aife sARfeR
(C) F & (D) SRR A T
36, Where will the 2034 FIFA World Cup be held?
(A) Spain (B) Saudi Arabia
(C) Canada

(D) None of these

.
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37.

37.

37.

a7.

38.

«poTS fRgize-6’ (9-. 99.-6) ‘ter+ Fffes 2

@M e

o (B) @
ver = (D) B
TS fmiE-6 (@3, T9.-6) (P (7 Terw wafem 2

(A) SICHRT % B) T
© = )
standard Missile-6 (SM-6) o 99 TN ﬁE‘lﬂﬁ’l’-‘i?

(a) SRR 24 | S
(C) ¥Rd L@ Pl
standard Missile-6 (SM-0) was de"eloped by which country?
(A) USA @) span
(C) India o i
3, @, (5 (P TR AR T 1 7R

(@A) o R e
(B) g W AAFAA I TG

AC) ST S AT
/(-D) sz fosfier ST o1 ATfA<eRel T

38.

38.

38,

TS (6 (PM-SURAJ Portal) @HW w1 /e 9 =W 2
(a) 2 R e

(B) oA @R FIARPICAI4N & T

(C) TR A GR SRARRAT T

(D) o= i @3 F5= fgwae SRR

PM-SURAJ Portal 371 9 Ministry S| STeRISIGE1?

(A) Ministry of Rural Development

(B) Ministry of New and Renewable Energy

(C) Ministry of Social Justice and Empowerment
(D) Ministry of Housing and Urban Affairs

PM-SURAJ Portal is implemented by which Ministry?
(A) The Ministry of Rural Development

(B) The Ministry of New and Renewable Energy

(C) The Ministry of Social Justice and Empowerment
(D) The Ministry of Housing and Urban Affairs

_-—\_““*——————

_
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L Acirs,

~Addal247]
59, 2024 5 % . secaorS G ST (I e iR 2
) fer \ P o
o fg (D) 3R e 7w
39, 2024 =R W 1. @ o SITOT 3 "SA@ FF: TS a2
() s Wﬁﬂﬁ; el
© fEfr D) e e
39, ¥ e IPL, 2024 f ‘Orange Cap’ W %rslﬁmq?
() R T “(B) fre Bt
© fgf (D) T wra
39. Which player won the Orange Cap in IPL, 20247
(A) Abhishek Sharma B): et ki
(C) Rinku Singh (D) None of them
40. 2025-2026% (I Y% AHRSF QR ACHG W{'{m@ R
(a) P “B) R
(©) o D) efem
40. (3 TS 2025-2026 FER KR ICECH A AR S 4 TR?
() (B) = R
(C) SRem @& (D) eifew
40. T RIS (Sector) 2025-2026 T TIera FARRgs Fife TN A7
(A) Tl @) i
() i D) et
40. Which sector has received the highest aﬂﬁdaﬁon in the Budget for 2025-2026?
(A) Education - (B) Rural Development
) Indian Railways -- (b) Defence
-— S
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o o1 Frgert o SRR 1@ S TR i 2x s 2, covs rgweore A X

41. I 90
(A) 8x2 3 47T (B) 2x2 Ao T
() i (DF 4x? 3o 0T
41, T Gl frgee of o TafeR faad oz Tafen O T 2x GFF W, O gt CFaTa 2
(a) 8x2 W IFT 5_ L (B) 2x2 o R
€ x2 3 T «.(D) ax? 3 9T
41 mﬁmﬁuﬁmﬁmﬁmﬁﬁwmewzxﬂﬁﬂﬁw, e st
ifern S
(a) 8x2 [ (B) 0x2 & WA
(€ x2 @ wrR D) ax? = @R
41. If the base of a triangle is twice its altitude and the altitude is 2x unit, then the area of the
. triangle is
(A) 8x? sq. unit (B) 2x2 sq. unit
(€) x? sq. unit (D) 4x2 sq. unit
R ————
—

42. ﬂmﬂaﬁﬁrﬂﬁﬁﬁ T @& 23 camra'r
(A) 5 czefiz, 10 cefiz, 6 czefis \@14@- s, 7 czefie, 8 (=

() 10 czsfie, 20 cefiz, 8 cxsfiis ' D) 30 zefis, 20 cefs, 12 e
42.w@mﬁmmw ﬂT’i{C"Hﬁ'ﬂT?

@) ,5 ciefie, 10 oiefie, 6 oTefis @) 14 s, 7 oiefis, 8 o

© 10 cisfie, 20 oiefis, 8 orefi (D) 30 iz, 20 ciefle, 12 HEE
42, TERR TR SEEE AR STERE AR ST e S g

(&) 5o fiio, 10 Fo fiio, 6 R o (B) 14 Ro fito, 7 Vo o, 8 Mo o

(C) 10 Fo o, 20 Fo fite, 8 Fo fi1o (D) 30 Fo fito, 20 Ve fite, 12 Fo o
42, Which of the following cannot be the measures of three sides of a triangle?

(A) 5cm, 10 cm, 6 cm ~ (B) l4cm, 7cm, 8 cm

(C) 10 cm, 20 cm, 8 cm - /(D) 30cm, 20 cm, 12 cm

43. ‘51 Fie S FRAE o 48,7 €% %f??cﬁlﬁﬂﬂ*l 3R °[@1 NI 2

WA (e + D)+ (x+2) = 48 = B) x+(x+1)=
(C) x+(x+2) =48 (D) (x-D+(x-2)=
43. ‘i Fe Sy T Qe = 48,7 @& HEH M @ w40 TR 2
(A) (x+1)+(x+2) =48 (B) x+(x+1) =48
C) x+(x+2) =48 D) (x-)+(x-2)=

u oy LA = Bk
CWD-2025, p_y 4 A WS |
/P-11/302-B e 23 @& (P.T.O.
LU ,q\j..y
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wﬁ%ﬁﬂaﬁmﬁmﬁmm-"aﬁﬁmmmmw
(B) x+(x+1)=48
D) (x-1)+(x-2)=48

43, A
@ bl e2) =98
(€) x+(x+2)=48

43. “The sum of two consecutive odd numbers is 48.” This statement can be
e expre33e
d 1

equation as
(A) {x+1)+(x+2)=48
() x+(x+2):48

B) x+(x+1)=48
(D) (x-1)+(x-2) =48

//_ T =
e x_wwyg:qawwmﬁmﬁ;f S
@z 7 — B 3w
(C) 4 ¥ == D) 1 <%
a4, x-OF @& y+2 =0 D T TN o=
(C) 4 9% D) 1%
44. x-fo’ IW y+2=0 E@ﬁﬁiﬁmm?
(A) 2 FHIR (B) 3 wFR
(© 43R D) 1EER \
44. What is t?lc distance between the x-ax;;_and the line y+2 = 0? y o, ‘
(A) 2 units £ 7% (B) 3 units \\5\07%‘
(C) 4 units ~ ©% (D) 1 unit
45. 1289 I #5TS & Fpod TR A FRE 2 &ﬁ’l‘f@sf A2 22 s = 4
8 &) 1 B) 7 (C) 13 %M
\vao\bJs. 1280-43 7% T R RIS ol FAC afp @ L RSUE S KN ?4&
\rv;a (A) 1 B) 7 () 13 \\3 (D) 16
45. magshmguﬁﬂaﬂﬁmmﬁwmmaﬁwﬁﬂ? RS
A 1 B) 7 ©) 13 ‘i%,‘a (D) 16
r 45. What is the minimum number to be add;;a:—i:?o 1289 so that it becomes 2 perfect square?
\ \nb,:\ &) 1 B) 7 £ = ) 13 (D) 16
N /\‘;} [ =
%ﬁ’e. B TR SR 1F THeR Y GCF 5 cm HE 3 cm- SRR FE T |
(A} 30 cm? : (B) 15 cm?
s o Q) 75 cm? - >,
o cm (D) 15 cm
46. 3 Mafres .
8 aoos T @ 0 T 5 cm @3¢ 3 cm. TTIFO] o fef T |
At o (B 15 cm’
S cm (D) 15 cm

CWT-2025 | P-11 l 302 B
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46. MWWWWWWSCmm3cm ﬁﬁﬂﬁﬁmw‘

() 30 cm? B) 15 cm?
2 (D) 15 cm
(c) 75 cm | ca of
. Find the
The base and height of 2 Pafa“‘*logram are 5 cm and 3 cm respectively
15 the para.llc logram. - .
(a) 30 cm? (B) 15 cm
©) 75 cm? £ 57 (D) IL/
47. ?ﬁlﬂ/awwwmﬁﬁwwwqi’m \b-‘}q. o i
(a) 2T (B) 5I® 8 <
N N
\(9/10 BRI : By 20 IZT© 9;‘/\ & . ) "
N
47. ASTE m%qummw:ﬁwwmﬁmm? o A

(A) 27 (B) 5T=A oo \?ﬁ}%
(C) 10 T=H (D) 20 T B \f
47. SERE 10°/u1ﬁtégaﬁmaﬁaﬂﬁﬁa’l€m, a’iﬁmmﬁwﬁq?

@A) 2 FETE £ o= (B) 5 9ERE
(C) 10 SERE =7 (D) 20 FERE
47. In how many years will a sum of money liE;Héubled itself at a simple interest of 10% p.a.?
(A) 2 years ~ (B) 5 years
(C) 10 years (D) 20 years

48. ASIF B (% TN 10000%@1%6400%¢1ﬁa%1w%mwﬁ36ﬁm|SWWAG
3,000 51 T51% #'ce W B (4 (96 TGR ForS WF 600 b1 et e B @ Sfew SAmE Zore
ARG AT 10% @O RONA =S A | GT=74 @ T 7S 16,000 571 T# B Aot Rram 232

(A) 6,480 T = (B) 7,920 %
(C) 8,080 5= ST (D) XA Bl T
48. A 9 B IYFW 10,000 T @R 6,400’%@# i @3 AR TN BWF IW@) S TCR R A

3,000 B gr (W @Rk B fcem Rifcafis SR WA 600 B cv A | B IR wRwR R
AE ATS 10% @7 RETR R | 97 ICH %R @6 TS 16,000 B 7 B-97 SN TS T 2

(A) 6,480 SR - ~B] 7,920 B
(C) 8,080 5 (D) «&fr ggfbe 7y

CWI-2025/p-11/ 302-B 25



https://applink.adda247.com/d/XhqWf9lSap

GETITON
A Google Play

Addal2417)
1 @A 10,000 T 3R 6,400 T BN R sremiverh wrerify —"
48-:;ms,gooﬁmﬁwmsmmmmﬁooﬁmnsm lsmﬁ%
7R AR gerE ,10%3"“‘“““‘ i'”"“'mﬁmmw 16,00011%%%
eI ATEEan A A T, BY
(A) 6,480 - (B) 7,920
(D) PR e v

(C) 8,080
g ¥10,000 and ¥6,400 respectively, ag
< Afte,

ip business in :

A and B started a partnership vestin
A withdrew £3,000 end 5 addeq F600 to their investment. Being active part

Artney

48.
S R al profit as salary, If
% of the annu « 11 th
3} cgc;ls:ais m_r.:pro gt B will be € profit at the end of one year is ¥ 16,000:
(A) €6,480 : (B) ¥7,920
(C) 8,080 (D) None of these 9
WA
NN T
49. ¥ fAfy 391 @ K
()3 2
11 11 M7 %wo\
L2 B) —-— 17
5 B 3 ] ()
: 3z
49. T a3 & P .
gﬂ(_lj [ 22) 7 X% ’![}\/q’
3\ 3 9 s NE.
¥1 11 17 N 17
11 LT o L \ D) -—
(A) . (B) 5 (C) 5 D) -3
3
49. A g 7
s-(-3)4%5)
17
11 11 17 (B ===
11 B == (©) 9
A 3 e 9
49. Find the value of
2 1 2
3 U3 % -- 17
17 D) -—
11 11 (C) — [ 9
Ky = B) -—
(A) 5 (B) 5 9 o
50. wmﬂmﬂwﬁéw :
32, 32, 34,(35,)35, 38, 42 \/ (D) 42
W 32 (B) 38 (Gy"35
SO. TS el v ety 34 -
32, 32, 34, 35, 35, 38, 42
L4 ] ] ] ] D 42
© 35 a

o} X0

CW'I‘—QOQSfP_nI 302_3 26


https://applink.adda247.com/d/XhqWf9lSap

GETITON
Google Play

so. A SRR TN (Median) g3 -

32: 32’ 34. 35! 35| 38; 42 tD] 42
A 32 (B) 38 ©) 35
Find the median of the following numbers :
50. Fi 32, 32, 34, 35, 35, 38, 42 _ —_
(A) 32 (6] =8 i]f/f//
e -
el TER 10% 5% 5% 100 591 2 TeR e P A LTI Nd*,@qp
gage 121 Bl @) 221 Ww o
© 111215 ._m) 12121 v A
1 mo%mﬂaﬂaﬁmﬁ?ﬁ m%WﬁWqﬁ@mmmﬁmﬁmqﬁm Q’f}\ .
. (A) 121 O (B) 221 O N
© 11121 sl D) 121-21 O
g1, AIENE 10% TS 100 TF S 2 T ST @ S
. a) 1211 B 2217
© 11121 T (D) 12121 1 |
um 18
51. The amount on compound interest of ¥ 100 f?r 2 years at the rate of 10% per ann
. a) 121 ~—(B) ¥221
€ T11121 ; ~ D) £121-21

A
g r ¥ s3I HA.B. (TR

e e S

g2, W p 9F g¥ AT, AT AL T ¢ SE s W, O3 P

(p, g TOIR® FRM) : s
A) pa (B) ar (C) sp D) s

52. p G qd LG, GR FIALG. T 1 G s T, p, g r TR s WAL =@ (p,ge TORF
LS))
(&Y pa B) ar © sp ) s

§2. p I gf 2o 3o Ho W Fo o Hie o1 wid r IR s AR, pgr AN sT Fo e e 3 A
SR (p, q e Tl swfem)?
(A) pg (B) ar (C) sp (D) s

52. If the HCF and LCM of p and q are 1 and s respectively, then the LCM of p, g T and s is
(p, g€ natural numbers) Ty

() pq (B) ar . © sp D) s

53-‘1ﬁx+%=7iﬂ,ch2+i2wm‘a; | P T
X

1%
i % (B) 40 ©) 42 M
A

53. i x+L =77, W x2 + @ T
X x2
A) 49 (B) 40 (C) 42 D) 47
o]
CWT-2025/p_11/302-B 27 % | B
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Ll A cecseres

55, T s L =7, 370 x L T ST
w4 @ 4 () 42 (D) 47
53. If x+==7, then x? +;12— is equal to
o o : © 42 (D) 47
54. 13 71 25 BoTF m
325 (B) 200 © 160 7 D) 8
54. 1 (73 25 *Rfz e YU MBI Qo 7 o
o s ©) 169 '?’y (D) 89
54. 1 fm 25 fm a0 TR SN e S
g _— (©) 169 "2:{?; (D) 89
54. The sum of the odd consecutive numbers from -
ner o (C) 169 z//ﬁ (D) 89
55. T SRR (P! O B% Tew
(A) =D 3 (4 )mmﬁqﬁmﬁwa\wl .
(B) WHIZSLF 7 FIRF TN TA 1, (
(C) 0 @1 o e | ,,;s"\?
QP oRaTeRe R g

55. A Sfeulm my @ el wE w0

(A) 2l 30 (4ATF) ST G FeIRF R |
(B) Ty TS Mo el 1.
(C) 0 ol =5 33 |

(D) 4fef Freries ke ¢l gu sk

§6. e R Ae 79 g N T
(A) W T (Positive) sHfmman fiffm swfm J
(B) Tl gafm Pt spfomman 1.
(C) 03 AR 31g o
(D) e fofegm i s s

85. Which one of the following statements is not true?

W Each even (positive) number is a natural number.
B) The smallest natural number js 1.
€ 0is a whole number,

D
(D) Each natyrg) number is an even number.

\

CWT-2025 [P/ 302-3 5



https://applink.adda247.com/d/XhqWf9lSap

GETITON
A Google Play

2 1 )

uﬁammﬂﬁl%OWE‘IWMm%m mmﬂmmﬁaﬂmw q"P%\%O“’ZS
56. ) 90 - (B) 190 o= 2

(©) 80 Dy 180 B meﬁﬁ
6. qﬁmmmzoo%m-ﬂmxm@m 10% X$ AT, orgel TE0 S

? ;

TS 90 B :._'": (B) 190 T

() 80T ~.(D) 180 T O
. ﬁﬁmﬁmﬁaﬁm 200 T 9 3 10%imam Tt o S e

(A) 90 q ~(B) 190-{!

© 8071 C. (D) 180T
g6. If the price of an article is © 200 and the rebate on it is 10%, then the customer hisis 1o peY

for this article

(A) ¥ 90 (B) ¥ 190

(c) ¢80 _ (D) ¢ 180

57. A 460 5 S 10 5 I, 1651?1%13&311% zomﬁmwmmﬂmpﬁﬁe (T ATIE

(ofran O “IRAIT 2A P ALY L
By 10 5= -:;'_--__ (B) 16 B L‘
(C) 20 B C D) 46 T
57. ¥ WAl 460 S 10 & o, 16@1%«\ 20 Frag e A Sa S FA 1, SR
AT S TS BIFT TP ? oZ
(A) 10 TR (‘B) 16 BT
(C) 20 B (D) 46 D=
57. IR 3t W 10 "W, W 16 ReE wHRH M W 20 MR AEE 460 T TR T =,
M SR et sre
(A) 107 (B) 16T
(C) 20T (D) 46
57.

If we divide ¥ 460 among 10 men, 16 women and 20 children equally, then the share of
each one will be

&) ¥ 10 ~_B) T16

() ¥ 20 i (D) ¥ 46
58. I 22‘:{*\1 +4 =83, (OB x I TN 2T

(A) 1 (B) 2 € 3 (D) 4
58 % 22x41 . 4 _ g7y, wreget x-47 T T@

| X A 1 (B) 2 >JC] 3 (D) 4
CWT-2025/py1 /302-B s " 29 =
4
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58, S5 225t} 4 = 8 WA, st xR A SR

(A) 1 (B) 2 © 3

(D) 4
58, 1f 22¥*1 +4 = 8, then the value of x is
1~ \[,\1 =
S\ s
59. T I MART TfE BT ? L& -
9 3 '% 5.3 7 5
A ®) 3<3 : (C) i D) 3.3
7 28
/; v k'1
59. fx @ ST Tl v= ?
9 3 5_3 7.5
) e (B) =<= o L2 D) 3-9
40~ 20 8 4 6 6 () 7 28
59. MEAM T« G T fagitar aw?
9 3 5 .3 7 5 3
@A) c—=3— B =g= C) —<= D) 3.9
40" 20 8 4 B % AT
59. Which of the following mathematical st_e'ife@ents is correct?
(A) 29,3 (B) 5.3 F ©) £ B (D) 3.9
40 20 8 4 A e 6 6 7 28
60. @ﬂﬁmmﬂngwgﬂwi’a,wﬁﬁ
A) a+b=c+d M’“C"d (C) axd=bxc (D) a+d=b+c
60. ' “fCW 31 2 @ = gy ©HR T, T
A) a+b=c+d (B) axb=cxd (C) axd=bxc (D] bl
6o-wmmmmgm§mmw,m
(A) a+b=c+d (B) axb=cxd (C) axd=bxc (D) a+d=bt
60. Two rationa] numbers % and 5 are equivalent if
= {
W arbaesg (B) axb=cxd (C) axd=bxc (D) a+d=b*
\ __________,.../
CWT-2025 /P11 302-B m
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word from the following,

61. Choose the odd
(A) Agitated (B) Aggressive

() Rowdy (D) Submi‘ssi:,//,

I
62. “O my Luve's like a red, red rose” is an example of a
(A) simile (B) metaphor

() metonymy (D) perso,ﬁﬁmtio/n,/’

S

63. What is the meaning of ‘cost an arm and leg’ ?

(A) Very expensive (B) War damages

(D) Medical surgery

(C) Total destruction

e S
64. Choose the correct option to fill in the blank in the following sentence
“He was so hungry that he could wait to wash his hands.”
(A) rarely . (B) often
(C) seldom =+ (D) hardly

" 65. Choose the correct option to fill in the blank in the following sentence :

| “Can you tell me the truth?”
(A) why did you not speak . (B) that why did you not speak

(C) why did not you speak (D) why you did not speak

66. Choose the correct option to fill in the blank in the following sentence :
“The train before we reached the station.”
(B) left

(A) had left

(C) has left (D) was going to leave

67. . . "
Choose the correct article to fill in the blank in the following sentence :

“He is MA in English.”

(A) a (B) an

0.

(C) the (D) No article is needed
__-__‘_-“_“"“—-—-—-____
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68. Choose the correct question tag to complete the following sentence
“She is going there,

(A) isn’t she? (B)
(C) doesn’t she?

is she?

(D) isnt it

e

69. Find the incorrectly spelt word.
(A) Conductor
(C) Condusive

(B) Conductance
! (D) Confusing.

70. Choose the correct option to fill in the blank in the following sentence -

“When I met Rajat in Mumbai, he
(A) is been

(C) have been

— teaching English for four years.”
(B) has been

(D) had been

71. Fill in the blank of the following sentence with correct option

“Assam has tremendous potential investors in service sector.”

() of B in
©) at (D) for

72. Choose the correct passive form of the f:dllbﬁring sentence :
“She is writing a letter.”

(A) A letter is written by her. = iB) A letter has been written by her.
(C) A letter is being written by her. (D) A letter is writing by her.

73. Choose the correct option to fill in the blank in the following sentence :

“She is ____ than any other girl in the class.”
(A) tall (B) the tallest
(C) more tall - (D) taller

74. Choose the correct indirect speech of the following :
She said, “I have finished the work.”

(A) She said that she has finished the work.
(B) She said that she would finish the work-
(C) She said that she finished the work.

D) She said that she had finished the work.
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‘ e -
correct option to fill in the blank in the following sentenc

75. Choos€ the
«] asked him _____ so lazy.”

(A) that is why (B) why he was

() that why he is ~ . (D) that itiy,mi,/

LL : ce :
orrect option to fill in the blank in the following senten

L =
everyone in his company-

—

76. Choose the ¢
«He always claims to be

(A) superior than (B) superior to
(C) superiority over ' (D) Al of these
R

77. Which of the following is incorrect?

(A) A swarm of monkeys (B) A caravan of camels

(C) A pack of wolves _ (D) A colony of rats

78. Which of the following words is Closéfﬁf In meaning to the word ‘abundant’?

iy

(A) Scarce (B) Difficult
(C) Barren (D) Ample
79. The phrase ‘stem the tide’ means
(A) save (B) stop
(€) touch (D) spare
_-_—-_---‘__‘—-———._‘__
80.
The antonym of the word ‘callous’ is
A
(A) casual (B) sensitive
(C
) soulless (D) strict
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g1. TR

99.102; 51,54 27,30; 7,7
~— ~ 5”18 |
W 12, 15 X! AL 13 (D) 18, 21
NP
sl.ﬁﬂﬁﬂ'@’?\‘m@‘mwm@wm {c@imm -
99, 102; 51,5% 27, 30; ?,7?
(a) 12, 15 (B) 15, 18 (O 10,13 (D) 18, 21
81. rerar B e A T S ST w’
99, 102; 51,54 27, 30; ?,?
(A) 12, 15 (B) 15, 18 (C) 10, 13 (D) 18, 21
81. In the following series, select the related number pair :
99, 102; 51,54; 27,30; ?,°?
(A) 12, 15 (B) 15, 18 (©) 10, 13 (D) 18, 21
82. wd e aree sifte ek Atk Tfevea |
b 4 »
A) (B) (D)
; b4 x
82. Ssx Baahkm T Rorefs a7 Ba @ As |
x »
A) (B) (C) (D)
x x
82. mmmmmm’mﬁ@
b4 x
(D)
% x
82.
Find the odd figure from the fo]lowmg '
* o
() b) )
\ .
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SRy — A

Google Play

i o7 o TBEPTRA I CZRN SHRH! AR By -

... e

(a) 125 (B) 175 (D) 150
ﬁm@ﬁ:ﬂaﬁ cwﬁqﬁﬂwﬁm@qw
A) 125 (B) 175 (©) 225 (D) 150

83. Wwﬂrﬁﬁﬁtﬁmmaﬁm@m’-

(A) 125 (B) 175 —— (C) 225 (D) 150

83. Select the missing number in the given

(A) 125 (B] 175 (C) 225 (D) 150

s4.w%mmwwﬁaﬁ@ﬂ&%ﬁw:

[Lg= o= GrlE] el

84. w3 Basfr v Rorafs wrr fafs cm‘ims |
o] . _‘_.-
@ ' 7 @ fo=]| o |[=e ® | 2%
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84. wﬁmmﬁrﬁﬁﬂrﬁmﬁﬂﬁwnﬁ@m’m%:

) @ [o=] @ [=o

84. Find the odd figure from the following =

- ®) ou::H —(C) E:‘°

A GET ITON
Google Play

85. worq BAERA *[1 (ZFal HRIH! AR Bfejaa :

'O
0
g A%bA A“ g

By 18 @ 46 ~ (© &0

85. o foaafi (e Ry R o e : _ ;

AAA

(A) 18 (B) 46 (C) 80
85. A FETRERE TRRA%E T SFEREE! ¥EE

VANVANGVAN

(A) 18 (B) 46 _ (C) 80

85. Select the missing number in the givenlf_iiagrams :

VNN

() 18 (B) 46 () 80

(D) 70

(D) 70

(D) 70

(D) 70

O} 15,


https://applink.adda247.com/d/XhqWf9lSap

——— i - ’ e . B
» ottt i GETITON
Google Play

e,
g6. [ 2x3x4 =432 SXOXT=T65 7xgx9- 987, cwra2ax5x7 =2

(A) 5 "B 752 © 725 o] 257
/ /
86. '{iﬁ 2)(3)(4 =432, SX6%x7= 765, 7X8X9=987, SIEE 2%x5%7 =7
() 572 (B) 752 ¥ (©) 725 (D) 257

g6, R 2x3x4 =432, 5x6x7=765 7x8x9 =987, Jecll 2x5%x7 =2

(A) 572 (B) 752 s (C) 725 o) 257
- [f2x3x4 =432 5x6x7=765, 7><8><"'_9__"'=:987, then 2x5x7 =7
A) 572 (B) 752 (€ 725 (o1 257
J—
g7. e o o T :
cC E G I 2
6° 10" 14’ 18’ 3(;:
’ S K .
P K K um/-f
r B) — s C) —
@& 5 B 55 &~ = €0 57 A 22
87. g *ff T : T
c E G I _ =
6’ 10’ 14’ 18 T —
P K i K _{(_
P K ) — (D)
@ (B) 30 © 5 22
87. Wl S 7Y W
¢ E G I
6 10" 14 18’
P K K K
P LY % ) — D) —
w ® 5 - 935 ) 22
87. Fill in the blank :
¢c E G I
6’ 10" 14’ 18’
P K K X
@ = = © 3 ®) %
22 ® 20 = > 23
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GET IT ON
A Google Play
r VIRKY
88. Al a1 o 90 :
|
wﬁxxi{YXLyVﬁxy/;Lm
(A) XXXYY (B) YXYXY ISy YYXXY (D) Yyvxx
88. *[FEM °f FTA :
_ XX_YX_YY_XY__XXY L2
(A) XXXYY (B) YXYXY . (0 YYXXY (D) YYYxx
88. el WM g WA : -
_XX_YX_YY_XY_XXY
(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX
88. Fill in the blanks :
_XX_YX_YY_XY_XXY
(A) XXXYY (B) YXYXY - - (C) YYXXY (D) YYYXX
89. Al I RT A1 : ;7
Doctor : Hospital : : Teacher : =
\ [} School - (B) Field ' (C) Industry (D) Laborator
89. RN 71 FA :
Doctor : Hospital : : Teacher :
(A) School (B) Field (C) Industry (D) Laborato
89. TGl S AT W : .
Doctor : Hospital : : Teacher :
(A) School (B) Field _ (C) Industry (D) Laboratc
89. Fill in the blank : :'_.__ 2
Doctor : Hospital : : Teacher :
(A) School (B) Field (C) Industry (D) Laborat
I
B
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Google Play

J

AN e, O
SV RITCOTR
5789 R ?KPI W 2436 R RS ALUR T, & 22 pa U

s & 237
\ga*/ ALGUT (C) ALGTU (D) ALGRT

90.

(A) ALRUT

o 5789 KMV AT GKPT W &3k 2436 da TKFO ALUR %,

HLTO ﬁm ?
(B) ALGUT - - (C) ALGTU (D) ALGRT

90.

(a) ALRUT
o0, g 5789 WM GKPT 1 e wmit m sa36 sfymml ALUR f @92 s, e 24539

mﬁmﬁuﬁﬁzaﬂﬁ?? i

(A) ALRUT (B) ALGUT (©) ALGTU (D) ALGRT

n as ALUR, how will 24539

in a certain code 5789 is written as GKPT and 2436 is writte

90. If

be written in that code?
(D) ALGRT

(B) ALGUT (C) ALGTU

(A) ALRUT

] wﬁﬁ‘-&@ﬁwﬁw,mwwm%ﬂ 'LQ\ 3«3/

91.
6*4*9x%15
A %;}
A) - % = BV%, - =93 CI = ) — = %
g i {\‘S
91. wg MRfT el Rty 301, IS 2rs FTH VT = : B
6*4%9x15
Il (A) - x, - (B) x’ — (C) L x’ - lD) =5 T x
91. ﬁmﬁmﬁﬁﬁ%ﬁ@w’mmﬁmmﬁm;
6%4%9%15 '
B) - %, = B) x, -, = € = %, — (D) -, =, x

U

91. ; 3
Select the correct mathematical signs to balance the given expression
6*x4*x9%15 =

B = o = (B) x, -, = © = x, - (D) -, =, x

_
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/Addai2417) A
%ﬂ%’ie Play

|
,’l 92. @ Barbr *fa1 czFan RAMCH AR Bfersan :
QP
b
il ¥ @1 @4 el 18
02. o foaft (e Ree ke Fow e Te

K5

A) 2 (B) 11 ©) 4 (D) 18
92. T FETHEE MAMAME SRHE @@
(A) 2 (B) 11 © 4 (D) 18
92. Select the missing number in the given'&iégram :
(A) 2 (B) 11 - S (C) 4 (D) 18
ALY mi\}m‘@\q’ "—_DT —
///
3. 1t POLICE 7 QOMIDE % TRl ol W, (o038 DA(SOIT 3 R foora Rk i
(4 EBDPJU ¢ RDD ~(B) EADTOJ
.(C)/EADOJT | )2) EBDOJT
o3, 1 POLICE-4 & % QOMIDE, W% DACOIT-&f e T
(A) EBDPJU (B) EADTOJ
(C) EADOJT (D) EBDOJT
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93. 9 POLICE o QOMIDE % & HRAT, 37z DACOIT @ &3 & 0 PrEEA

(A) EBDPJU

(C) EADOJT

03.

(A) EBDPJU

(C) EADOJT

e

94. T LA

7’37

(A)

(A)

.94, If

S

S

i M

L)
£C

(B) EADTOJ

(D) EBDOJT

(D) EB

(71 B) EADTOJ

DOJT

SiS

(B)

8

()

)
is drawn on a transparent sheet and folded on

be the resulting figure?

(A)

S

(B)

8

CWT-2025/p-11/ 302-B

(o

e

1f POLICE is coded as QOMIDE, then :DEC.OIT will be coded as

(D)

GET IT ON

Google Play

A

e e

......

the dotted line, then what would

(D)

w
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~ﬁﬁﬁa\2'~l 7‘ A %ﬂ%"ie Play

95. TR % 9@ 10 TWTS RS W WF FA Zod s R 4 e i sicew ﬂﬁwwmqm
SIS YO YR Foree e B @1 wfeww 9w 2 Ly

(B) 120° (C) 180° Q,'p" (D) 1350

s}

(A) 60°

95. IR Rw=w T 10%@%@@:%%{39@%4@@@% meq

79 | @ SO 4 ISR 01 9o o g -

(B) 120° ~_F(O) 180° (D) 13s°

(A) 60°

95. T T $H 10%%@@@%5%&%3@%4mmmﬁ%m%m
i ety srrargen 3 feft fifeet?

(A) 60° (B) 120° (C) 180° (D) 135°

95. Ramya’s school starts at 10 o’clock in the morning, and after school she attends swimming
course at 4 o’clock in the afternoon. By how "ril‘_uéh degree does the hour hand move during

this time? £
(A) 60° (B) 120° —(C) 180° (D) 135°

o6, b et DI RRtw e 5 o 2age | o o gl 4% Refie o e e e, B

%//é;;”

AL 1 (B) 3 € 6 D) 5
96. <35 Tpafa Rmfs Rfew firen g crem 2R | ©1F (AT Tpalba 4-47 Reffie T N 0

ey w3 '

(&) 1 B) 3 (C) 6 (D) 5

i
&
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5
o € 6 (D)

@) 1

96 [hree ! e are given. Find ber
e giv out.w, .o to the num
th : en dice : 1 ¢ t hlch number is found opposite t
~ 4in g

5
S /
o7. Wﬁmwﬁ?mfﬁmww&m
ABC : UVW ::DEF:__ :
[ T e
Yy
c\gﬂr XYZ B M = (€] POR (D) %ER
1 v &
ll.>'lq. ‘ .?—.:
o7, FIGT® eI & S Sl o 3
ABC : UVW ::DEF:___ -~
(A) XYZ (B) MNP (C) POR (D) GHR
97, TEATE BT BRRIGRR URER S war e A g
C:UVW ::DEF:___
(A) XYZ (B) MNP (C) POR (D) GHR
97. Select the related letters from the following :
ABC : UVW :: DEF: __—
@) xyz (B) MNP j&f, ek (D) GHR
e I
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l_’rAIC|I:|a\E"| 7 A T pray

98. 7o fRyl BACATE *R1 (ZFAN ST AR Tfeyear

(A) 4 (B) 21 Sy [©) 20 D) s

98. =< Pash w3 Rejy Wi @ @3 I@

295 49 121
8 7 3 i 6 ?

(A) 4 (B) 21 (C) 20 D) 5

98. THTE TEMRERRA TRSE MHAR SHRE 9ea’ :

225 49

8 7 3 4

(A) 4 B) 21 <~ (C) 20 (D) 5

98. Select the missing number in the given diégrams .

225 49 g2
8 7 3 4 6 ?

(C) 20 W)/5

(A) 4 (B) 21
99, Geq *RYEACHN AT 513G Toe 7ROl ﬁb‘lﬁ'@fé‘i@:
% 2% % 1\%
Q/\\{} (A) 18 Q‘ﬁ" B 36 E/ (C) 46 e (D) 38
/56 99, ffef¥e Wenfore spraiye (?) TR Tor SR L& @R A :
s, 5 8,\‘2/4, 12, 2, 18, 54 El D

A

26 W 18 836 © 4 — 16 (D 38
| 8 2
;| B
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7| A _ A GET IT ON
Google Play
00 W-gmtmfma AR SR T’
' 8, 24, 12,7, 18, 54
D) 38
(A) 18 b (B) 36 ©) 46 (
In the following series, select the missing number :
99. 8, 24, 12, ?, 18, 54 ) "
Ta D
o0, R T T RER?
1 TS
Lz sy
¢ |6 |3 |8
| D) 2
" 5 By 4 © 3 ®)
o0, o T T T IR V)
£k L i
/_ [
‘:a. 2
" 5 @+ ~ ©3 (©)
100. A 30 o g IR A
) 2
(A) 5 (B) 4 © 3 (D
100. How many cubes are unseen? k
() 3 (D) 2

(A) S (B) 4
e
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